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$ oerr ora 12899

12899, 00000, "value too large for column %s (actual: %s, maximum: %s)"
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/I *Cause: An attempt was made to insert or update a column with a value

/I which 1s too wide for the width of the destination column.

I The name of the column is given, along with the actual width
/I of the value, and the maximum allowed width of the column.

/I Note that widths are reported in characters if character length
/! semantics are 1n effect for the column, otherwise widths are

I reported in bytes.

/I *Action: Examine the SQL statement for correctness. Check source

/I and destination column data types.
/! Either make the destination column wider, or use a subse
Il of the source column (@. e. use substring).
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$oerr exp 5
00005, 00000, "all allowable logon attempts failed"  <— ‘ TT—AytE—

/I *Cause: Attempts were repeatedly made to log on with an invalid username
/I or password.

/I *Action: Shut down the utility, then restart and retry with a valid
/I username and password.
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$ oerr tns 12541
12541, 00000, "TNS: no listener" — 25— AvE—Y

/I *Cause: The connection request could not be completed because the listener
/I 1s not running.

/I *Action: Ensure that the supplied destination address matches one of

I the addresses used by the listener - compare the TNSNAMES.
ORA entry with
/ the appropriate LISTENER. ORA file (or TNSNAV. ORA if the

connection is to
I go by way of an Interchange). Start the listener on the remote machine.
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ORACLE_HOME 5« L7 RV :
D:¥Oracle_Base¥product¥12.2.0¥dbhome_1 D5
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set ORACLE_HOME=<ORACLE_HOME 7 s L7 KU >

o~ ROIFEAT
%ORACLE_HOME%¥bin¥oerr.bat ora <=T7—F 5>
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00600, 00000, "internal error code, arguments: [%s], [%s], [%s], [%s], [%sl],
[%s], [%s], [%s], [%s], [%s], [%s], [%s]"
/] *Cause: This is the generic internal error number for Oracle program

/1 exceptions. It indicates that a process has encountered a low-level,
/l unexpected condition. The first argument is the internal message

/l number. This argument and the database version number are
critical in

/l 1dentifying the root cause and the potential impact to your system.
/l

/I *Action: Visit My Oracle Support to access the ORA-00600 Lookup tool

I (reference Note 600.1) for more information regarding the specific
/l ORA-00600 error encountered.

/l .

/l
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<ORACLE_HOME >¥perl THFINVEDET 7 A IV
< ORACLE_HOME > ¥lib¥facility.lis 77 A
< ORACLE_HOME >¥bin¥oerr.bat 757 A )
<ORACLE_HOME > ¥bin¥oerr.pl 77 A

<ORACLE_HOME >¥rdbms¥mesg¥oraja.msg ~ 71 /L
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- perl 7 FIVH
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oerr.bat 7 7 1 /L
%OH%¥perl¥bin¥perl %OH%¥bin¥oerr.pl %1 %2 %3 %4 %5
1
%OH%¥perl¥bin¥perl %OH%¥oerr.pl %1 %2 %3 %4 %5

oerr.pl 7 7 A /v
my $Facilities_File = catfile(ENVIORACLE_HOME}, "lib", "facility.lis");
1
my $Facilities_File = catfile($ENV{IORACLE_HOME}, "facility.lis");

my $Msg_File = catfile(SENVIORACLE_HOME}, $Component, "mesg",
$Facility . "us.msg");

1
my $Msg_File = catfile(SENVIORACLE_HOME}, "oraus.msg");



BRETAEFL DR IE

set ORACLE_HOM —T< K54 74> : <OERR a~<=Y FHAST4LVZ FY >

OERR =~ > RO FEFT

< KIA T4 >
cd <OERR =2~ FHT4LVZ FU>
oerrbat [ora | exp | tns] <=T7—FKF5F5>

H L <UL,

< KIA4 T4 >
cd <OERR =~ FKHFT4LZ FU>

perl¥bin¥perl.exe oerr.pl [ora|exp|tns] <xTT7—FKF>
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set ORACLE HOME=D:¥ - « « « « « « = ¥Yoerr 2~V KT 4 L7 1Y
D:
cd ¥+ - o000 Yoerr 2~v 2 RHT V7 MY

oerr.bat ora 600
H L <,

perl¥bin¥perl.exe oerr.pl ora 600




